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Jl2ZHl(ZAlRE ) 90,506 83,206 7,300
HEFZFH 3,600 3,600 0
203 R =& 3,600 3,600 0
04 NI 3,600 3,600 0
ORN2EYE=AHI 300,000& =122 3,600
2Bt G| 29,666 25,546 4,120
201 Let24d] 29,666 25,546 4,120




M SANSH
Hu: #F2ARY
gl J23H(ZALED) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 28,406 24,146 4,260
o=l 4,608
OB+t 23,798
02 =224l 1,260 1,400 A 140
03323 % HA 360
O A& & Hl s X bl 900
04 bl 57,240 54,060 3,180
202 04l 57,240 54,060 3,180
01 = LHA YI 57,240 54,060 3,180
O=L40 bl 57,240
O2 U o4yl 180,000& »20H «12& 43,200
O&2 0yl 58,5003 x20H «12& 14,040
HEeES(SALSI) 300,000 300,000 0
HEAHN XIS (S AL ) 300,000 300,000 0
ZII0IESESANHEANEUHRNE L SE3H &3 300,000 300,000 0
701 JIEtSI HENMNES 300,000 300,000 0
01 JIEtSIHE &S 300,000 300,000 0
OFIINITY XY SN &3 300,000
HEES(SALS) 1,936,800 221,000 1,715,800
UWEAHAXE(ZA LS D) 1,936,800 221,000 1,715,800
FAUEELSN 852 1,936,800 221,000 1,715,800
701 JIEtI HEEES 1,936,800 221,000 1,715,800
01 JIEtl AN ES 1,936,800 221,000 1,715,800
OFXZ ELE3H d&E=3 1,936,800




